387pull Brise Tee

Suggested yarn:
* Pierrot Yarns Brise [69% rayon, 20% ramie, 11% polyester; 98 yds/90m per 1.06 0z./30g
skein]; color #08 pearl grey, 7 skeins [210g]

Tools/Notions:

+ 3.0mm (US 2Y%2), 3.3mm (approx. US 3), and 3.6mm (approx. US 4 or 5) knitting needles or
sizes necessary to achieve gauge

+ 2.5mm (approx. US B or C) crochet hook or size necessary to achieve gauge

* 3 buttons (15mm/0.59")

Finished measurements:
* bust 92cm/36.22"
« center back neck-to-cuff 52.5cm/20.67"

Gauge (10cm/4" square):

* pattern stitch A (with 3.6mm needles): 23 sts and 32 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge.
Alternatively, rework pattern with your own gauge measurements.

......................................................................................................................................

Summary
Lower body: Cast on with long-tail cast-on method. Work in garter stitch and then in pattern stitch A, altering
gauge as you work by changing needle size when indicated. Bind off.

Upper body & sleeves: Start as for lower body, then work in pattern stitch A and garter stitch, adjusting gauge with
needle size as for lower body. Bind off. With crochet hook, work pattern stitch B along cast-on edge of upper body,
making buttonholes in right front only.

Finishing: Seam upper body and lower body (section marked with ) together using stitches-to-rows mattress
stitch. Use mattress stitch for the section that overlaps. Seam each side (from hem all the way up sleeve to cuff
edge) with mattress stitch.

Abbreviations:

BO = bind off

ch = chain st (crochet)
CO=caston

pm = place marker

© 2018 Pierrot Yarns (Gosyo Co., Ltd.). Translation by LinguaForge, LLC. All rights reserved.



Lower back (make 2) Upper back (make 2)

92sts ———

46cm | 116 sts
BO garter stitch 3.6mm needles

. BO 1 lcm TG rows
% e I 36cm | 92 sts
Aot 135em 33 d oCm
: .3mm needles
> 3.3mm needles 48 rows N 42 rows
) @ — pattern stitch A s
32.5cm ‘S — pattern stitth A —————— 39.5cm =
. J s g 3.6mm needles 25em
.6mm needles : g
56 rows 2 %(z)ﬁrgws: 30010
50.5cm | 116 sts — ® bu;ltgﬁthgilges é%,i’,ts)
. - 40cm | 92 sts -
garter stitch 3.6mm needles | —==1 2cm 5 rows
‘ 12 VN
. CO 116 sts . pattern stitch B 6 66
2.5mm hook StS stssSts
edging: 91sts ————————
Pattern stitch A = it
”””” 20
PN o PN o PN o
O A (@) A @] A
o A o A o A 15
PaN (6] PaN (@) PN (@)
PaN ] PN O PN (@)
o A ] A (@) A 0
o A o A (0] A
PN O PN (@) P (@) 5
~ o ~ ) ~ 0 <start lower body
,,,,,, 1 start upper body
116 110 20 10 5 1
"
start upper

= 8-st, 8-row repeat & lower body



Finishing

upper body/sleeve

Seam 4-st overlap
with mattress st.

buttonhole

upper body/sleeve
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Pattern stitch B
2.5mm hook
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Buttonholes swork on upper right side only.
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